SOLHW 4.4

December 9, 2016 1:54 PM

Name: Date:
Pre-Calculus 11 HW 4.4 The Quadratic Formula
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1.

Given each quadratic equation, indicate the values of the coefficients “a”, “b” and “c”:

a) X’ +5x+6=0 b) 12x* +7x-3=0 ¢) 2x7=7x+5=0

a= \ b= T c= L, a= ll— b:} c= —;> a:".z_—b:‘_’—?h:: {S’

d) 4x* =13x-8 e) x(7-8x) =10 fx(x+2)=6-(x—3)(2x+1)
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2. Solve for “x” for each of the following by using the quadratic formula:

a) X' —5x+6=0 b) 3x’ —x+1=3 c) 2x* —3x—-1=0
—b ++/b> —dac 3%’ -x-2=0 —b++/b* — dac
2a —b ++/b* —dac 2a

~(=5) £4/(=5)* - 4(1X6) 2a —(=3)/(=3)" —4(2)(-1)
2(1) (D EJ(-1) —4(3)(-2) 2(2)

5+ 2(3) 3417
2 1+-/25 4
x=3,2 5 x=1.78, -0.28

x=1-3 B A8

d) —0.5x° +4x+12=0=— |e) -0.5x" +3x=6

f) 3x* =12x-5
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g) 3x(2x-6)=8 h]4—x:=4x—2 ez beot |0 X2_2:¥ ez b=12
Hf‘-—\l’x—b 3 2oy =—3x 7Y
Y -nX +6=0 [|[e=&& |[2XT+Fx-4= 0

- x+3=0 % | 43T G
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'X=Q-_*S>>5—LWX’>\ = Btﬂ: == ‘S\m-\rsv_ = "Df* i

2() Y%
X=63283 _ 3+ {3 'E—, __,c\J
Y 2
j) 2x° —5x7 + _izu k) 2x* +6x—8="7x" - 2x uz(z_le] +9(2x=1)+7=0 <
7(L2 <+ F) = ©\eT ﬂzzsc—\
1 | 204+ F =0 S|
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3. Under what conditions will the equation have no solutions? ax” + bx + ¢ = 0 Explain why
—————
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Under what conditions will the equation have onlg one solution? ax’ + bx + ¢ =0 Explain why

—

b uac=0 *"’@

5. The revenue a company makes for selling shoes is given by the equationl R= —8p2 +1200p fwhere “R" is
the revenue and ‘p” is the price in dollars. At what price should the company sell their shoes to generate a
revenue of $400,000? Yoo, sos = _w
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6.

Here are the steps that John used to solve the equation: 12x° —7x — 3 = 0. Find the mistakes:
I x= 9 ﬂmg L, :x=-7+19794955..
LR~ > (12)

[y o7+ N2401-144 L x, ==7+1.9794955.. = —5.0205...
2 - 24

Lx=-Tt% "222457 L, x, = 719794955 = 8.9794955...
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5. The revenue a company makes for selling shoes is given by the equation:| R = —3p‘3 +1200p, }here “R"is

the revenue and ‘p” is the price in dollars. At what price should the company sell their shueite generate a
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5. The revenue a company makes for selling shoes is given by the equation:| R = —Ep: +1200p , Where "R" is

the revenue and ‘p” is the price in dollars. At what price should the company sell their shoe: generate a
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